

UNITED STATES BANKRUPTCY COURT
WESTERN DISTRICT OF NORTH CAROLINA
CHARLOTTE DIVISION

In re:

ALDRICH PUMP LLC, *et al.*,¹

Debtors.

Chapter 11

Case No. 20-30608 (LMJ)

(Jointly Administered)

NOTICE OF OPPORTUNITY FOR HEARING

(No Protest Notice: No Hearing Will be Held Unless Request for Hearing Is Filed)

TAKE NOTICE that Verus, LLC has filed papers with the court its Amended Fifth Interim Fee Application as PIQ Data Administrator to the Official Committee of Asbestos Personal Injury Claimants for Payment of Interim Compensation and Reimbursement of Expenses Incurred for the Period of October 1, 2024 Through January 31, 2025 (the “Application”). A copy of these paper(s) is included with this notice or copied on the reverse side of this notice.

Your rights may be affected. You should read these papers carefully and discuss them with your attorney, if you have one in this bankruptcy case. If you do not have an attorney, you may wish to consult one.

If you do not want the Court to order the relief sought in the Application, or if you want the Court to consider your views on the Application, then on or before **14 days** from the date of this Notice, you or your attorney must do three things:

1. File with the Court a written response requesting that the Court hold a hearing and explaining your position. File the response at:

U.S. Bankruptcy Court
Western District of North Carolina
401 West Trade Street, Suite 250
Charlotte, NC 28202

If you mail your request to the Court for filing, you must mail it early enough so the Court will receive it on or before the date stated above.

2. Serve a copy of your response on all parties in interest, including:

- a) U.S. Bankruptcy Administrator
401 West Trade Street, Suite 2400
Charlotte, North Carolina 28202

¹ The Debtors are the following entities (the last four digits of the Debtors’ taxpayer identification numbers follow in parentheses): Aldrich Pump LLC (2290) and Murray Boiler LLC (0679). The Debtors’ address is 800-E Beaty Street, Davidson, North Carolina 28036.



- b) HAMILTON STEPHENS STEELE + MARTIN, PLLC
Glenn C. Thompson
525 North Tryon Street, Suite 1400
Charlotte, North Carolina 28202

- c) ROBINSON & COLE LLP
Natalie D. Ramsey
Davis Lee Wright
1000 N. West Street, Suite 1200
Wilmington, Delaware 19801

- d) WINSTON & STRAWN LLP
David Neier
Carrie V. Hardman
200 Park Avenue
New York, NY 10166

If you do not want the Court to grant the relief requested in the Application or if you want the Court to consider your views on the Application, then you or your attorney should attend the hearing on **February 26, 2026 at 9:30 a.m. (ET)** before the Honorable Lena M. James at the United States Bankruptcy Court, Charles Jonas Federal Building, Courtroom 2B, 401 West Trade Street, Charlotte, North Carolina 28202.

If you or your attorney do not take these steps, the Court may decide that you do not oppose the relief sought and may enter an Order granting the relief requested. If no objections are timely filed and served, the court may rule on the Application without a hearing. No further notice of that hearing will be given.

Date: January 29, 2026
Charlotte, North Carolina

HAMILTON STEPHENS
STEELE + MARTIN, PLLC

/s/ Glenn C. Thompson

Glenn C. Thompson (Bar No. 37221)

525 North Tryon Street, Suite 1400

Charlotte, North Carolina 28202

Telephone: (704) 344-1117

Facsimile: (704) 344-1483

gthompson@lawhssm.com

*Counsel to the Official Committee of Asbestos
Personal Injury Claimants*

**UNITED STATES BANKRUPTCY COURT
WESTERN DISTRICT OF NORTH CAROLINA
CHARLOTTE DIVISION**

In re:

ALDRICH PUMP LLC, *et al.*,¹

Debtors.

Chapter 11

Case No. 20-30608 (LMJ)

(Jointly Administered)

**SUMMARY OF THE AMENDED² FIFTH INTERIM FEE APPLICATION OF
VERUS, LLC AS PIQ DATA ADMINISTRATOR TO THE OFFICIAL COMMITTEE
OF ASBESTOS PERSONAL INJURY CLAIMANTS FOR PAYMENT OF INTERIM
COMPENSATION AND REIMBURSEMENT OF EXPENSES INCURRED FOR THE
PERIOD OCTOBER 1, 2024 THROUGH JANUARY 31, 2025**

Name of applicant:	Verus, LLC
Authorized to provide professional services to:	The Official Committee of Asbestos Personal Injury Claimants
Date retention approved:	May 15, 2023
Period for which compensation and reimbursement is sought:	October 1, 2024 through January 31, 2025
Amount of compensation sought as actual, reasonable, and necessary:	\$315,063.00
Amount of expense reimbursement sought as actual, reasonable, and necessary:	\$1,612,762.22
Total	\$1,927,825.22

This is a(n): Monthly Interim Final Application.

This is the Amended Fifth Interim Fee Application for Compensation and Reimbursement of Expenses.

¹ The Debtors are the following entities (the last four digits of the Debtors' taxpayer identification numbers follow in parentheses): Aldrich Pump LLC (2290) and Murray Boiler LLC (0679). The Debtors' address is 800-E Beaty Street, Davidson, North Carolina 28036.

² The purpose of the amendment is to include corrected exhibits.

**SUMMARY OF VERUS, LLC FEES BY PROFESSIONAL
OCTOBER 1, 2024 THROUGH JANUARY 31, 2025**

The Verus employees and contractors who rendered professional services in the case during the Fee Period are:

Professional	Rate	Total Hours in Fee Period	Total Fees in Period
Amanda Thomson	\$150.00	351.7	\$52,755.00
Betty Rekemesik	\$115.00	8.9	\$1,023.50
Brianna Worrell	\$115.00	108.1	\$12,431.50
Debbie Daloisio	\$250.00	84.2	\$21,050.00
Edward Silverman	\$250.00	34.7	\$8,682.50
Erin Sobke	\$115.00	116.7	\$13,420.50
Gencehan Yuksel	\$250.00	531.1	\$132,775.00
Jean Abellard	\$115.00	149.8	\$17,227.00
Jose Thomas	\$150.00	38.5	\$5,775.00
Kevin Davis	\$115.00	203.5	\$23,402.50
Morten Iversen	\$350.00	44.1	\$15,435.00
Rory Yerkes	\$115.00	28.7	\$3,300.50
Sabrina Taylor	\$250.00	1.6	\$400.00
Sara Leineek	\$350.00	21.1	\$7,385.00
Total for Fee Period		1,722.70	\$315,063.00
Billed from Retention Through Previous Fee Period		22,430.9	\$3,469,725.00
Total Since Retention		24,153.6	\$3,784,788.00

**SUMMARY OF VERUS, LLC
HOURS BY PROJECT CATEGORY
OCTOBER 1, 2024 THROUGH JANUARY 31, 2025**

Project Category	Hours in Oct.	Hours in Nov	Hours in Dec.	Hours in Jan.	Total in Fee Period	Total Hours Since Date of Retention
Analytics (An)	24.5	28.7	79.7	73.8	206.7	816.3
Communication (Cl)	60.9	21.4	29.3	30.2	141.8	508
General Administration (GA)	173.2	206.5	131.6	147.5	658.8	13,381.4
Information Technology (IT)	0	0	0	0	0	5,754.5
Quality (Q)	278.1	120.1	76.9	240.30	715.4	3,696.4
Total:	536.7	376.7	317.5	491.80	1,722.7	24,153.6

**SUMMARY OF VERUS, LLC
FEES BY PROJECT CATEGORY
OCTOBER 1, 2024 THROUGH JANUARY 31, 2025**

Project Category	Fees in Oct.	Fees in Nov.	Fees in Dec.	Fees in Jan.	Total in Fee Period
Analytics (An)	\$3,335.00	\$3,827.50	\$9,731.50	\$10,715.50	\$27,609.50
Communication (Cl)	\$15,345.00	\$5,320.00	\$7,955.00	\$8,470.00	\$37,090.00
General Administration (GA)	\$40,672.50	\$40,503.00	\$33,820.00	\$36,875.00	\$151,870.50
Information Technology (IT)	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Quality (Q)	\$36,578.50	\$16,514.00	\$12,289.00	\$33,111.50	\$98,493.00
Total:	\$95,931.00	\$66,164.50	\$63,795.50	\$89,172.00	\$315,063.00

**VERUS, LLC
CUMULATIVE EXPENSE SUMMARY
OCTOBER 1, 2024 THROUGH JANUARY 31, 2025**

Vendor	Service Description	Total Expenses for Fee Period	Total Expenses Since Retention Date
STF	Software: IT Security Support	\$8,655.01	\$13,141.98
Microsoft	Software licenses	\$978.00	\$978.00
PeopleShare	Consultant Expenses on PIQ Review	\$336,830.65	
Robert Half	Consultant Expenses on PIQ Review	\$504,274.57	
Brainworks	Consultant Expenses on PIQ Review	\$656,306.99	
EfficiencyWare	Consultant Expenses on PIQ Review	\$105,717.00	
	Other Consulting Hours on PIQ	\$0.00	\$21,279.40
	Assembly Subscription Fee for Database	\$0.00	\$24,900.00
	Google OCR AI- for Subpart	\$0.00	\$3,533.00
	Total	\$1,612,762.22	\$62,854.38

**UNITED STATES BANKRUPTCY COURT
WESTERN DISTRICT OF NORTH CAROLINA
CHARLOTTE DIVISION**

In re:

ALDRICH PUMP LLC, *et al.*,¹

Debtors.

Chapter 11

Case No. 20-30608 (LMJ)

(Jointly Administered)

**AMENDED FIFTH INTERIM FEE APPLICATION OF
VERUS, LLC AS PIQ DATA ADMINISTRATOR TO THE OFFICIAL COMMITTEE
OF ASBESTOS PERSONAL INJURY CLAIMANTS FOR PAYMENT OF INTERIM
COMPENSATION AND REIMBURSEMENT OF EXPENSES INCURRED FOR THE
PERIOD OCTOBER 1, 2024 THROUGH JANUARY 31, 2025**

Verus, LLC (“Verus”), PIQ Data Administrator to the Official Committee of Asbestos Personal Injury Claimants (the “Committee”) of Aldrich Pump LLC, *et al.*, (the “Debtors”), hereby submits its Amended Fifth Interim fee application (the “Amended Fifth Interim Fee Application”) for allowance of compensation for professional services rendered and reimbursement of actual and necessary expenses incurred for the period October 1, 2024 through January 31, 2025.

INTRODUCTION

1. On June 18, 2020 (the “Petition Date”), the Debtors commenced this proceeding (the “Chapter 11 Case”) by filing a voluntary petition for relief under chapter 11 of title 11 of the United States Code, 11 U.S.C. §§ 101 *et seq.* (the “Bankruptcy Code”).

2. Pursuant to sections 1107(a) and 1108 of the Bankruptcy Code, the Debtors have continued as a debtor-in-possession since the Petition Date. No trustee or examiner has been appointed in the Chapter 11 Case.

3. On June 30, 2020, the Bankruptcy Administrator moved for the appointment of the Official Committee of Asbestos Personal Injury Claimants in the Debtors’ case pursuant section

¹ The Debtors are the following entities (the last four digits of the Debtors’ taxpayer identification numbers follow in parentheses): Aldrich Pump LLC (2290) and Murray Boiler LLC (0679). The Debtors’ address is 800-E Beaty Street, Davidson, North Carolina 28036.

1102 of the Bankruptcy Code [Dkt. No. 126]. The Bankruptcy Court orally granted the motion at a hearing on July 6, 2020 and entered an order memorializing its ruling on July 7, 2020. *See* [Dkt. No. 147].

4. On July 15, 2020, the Court entered the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* [Dkt. No. 171] (the “Interim Fee Order”). Pursuant to the Interim Fee Order, the Court established a procedure for interim compensation and reimbursement of disbursements for professionals appointed in this case. In particular, the Court authorized the service to certain notice parties of monthly fee statements by professionals appointed in this case (including professionals employed by the Committee) and payment by the Debtors of 90% of fees and 100% of expenses, in the absence of an objection made within fourteen (14) days of service of the pertinent fee statement.

5. On March 8, 2023 the Committee filed the *Ex Parte Application of the Official Committee of Asbestos Personal Injury Claimants to Retain and Employ Verus, LLC as PIQ Data Administrator for the Personal Injury Questionnaire Responses* [Dkt. No. 1636].

6. On May 15, 2023, the Court entered its *Order Approving the Ex Parte Application of the Official Committee of Asbestos Personal Injury Claimants to Retain and Employ Verus, LLC as PIQ Data Administrator for the Personal Injury Questionnaire Responses* [Dkt. No. 1755].

RETENTION OF VERUS

7. The Committee retained Verus as PIQ Data Administrator in the Chapter 11 Case. By order dated May 15, 2023, Verus was appointed as PIQ Data Administrator for the Committee, to perform certain tasks set forth in greater detail in the underlying retention application, effective as of May 15, 2023. *See* [Dkt. No. 1755].

8. As set forth in the in the application to retain Verus, Verus was engaged to perform the following services:

- a. Download PIQ submissions from the Donlin Portal, and link submission data to the respective PIQ IDs based upon Donlin Master Service List PIQ IDs decoded and provided by LAS.
- b. Create and maintain a machine-readable inventory of the documents included for each submission using LAS document type codes and perform ongoing 10% quality control (“QC”) on the document type coding.
- c. Periodically account for and report on missing cases and duplicate cases against the master PIQ Service List.
- d. Design and enter PIQ data into an online data entry platform (the “PIQ Data Capture System”) mirroring the PIQ and providing for capture of additional information from supporting documents as required.
- e. Produce periodic data exports of items (a)-(d) during the PIQ data capture process.
- f. Extract from the documents submitted with PIQs the key data related to disease, e.g., meso diagnosis date, other disease(s) present; exposure, e.g., work history, identification of Debtors’ and other products; defendants named and court cases filed; and trust filings, and include the source document for each data element extracted (capturing the data in a template similar to the PIQ data) and perform ongoing 10-20% QC on coding and data entry.
- g. Provide LAS with access to the online PIQ Data Capture System.
- h. Provide regular reports to LAS on productivity and schedule regular conference calls to discuss operations, troubleshoot and document problems and their resolutions, and answer questions about how to interpret the data.
- i. Provide such other data processing and analysis tasks as may be requested by the Committee or LAS.

VERUS’S FEE STATEMENTS DURING THE FEE PERIOD

9. During the period covered by the Amended Fifth Interim Fee Application (the “Fee Period”), Verus provided the Notice Parties with monthly fee statements in accordance with the Interim Fee Order and the Guidelines for Compensation (the “Compensation Guidelines”). Thereafter, Verus submitted revised monthly fee statements during the Fee Period intended to provide additional detail in time entries and capture certain previously missing time entries and replaced the original statements.

10. The Debtors objected to the December - January monthly fee statements. The parties have spent a substantial amount of time working to resolve the Debtors’ objection. Pursuant to an agreement between Verus and the Debtors, Verus prepared the following revised statements for the Fee Period. All issues between Verus and the Debtors related to fees and expenses incurred by Verus to and including the Fee Period have been resolved and the Debtors consent to the allowance of such fees and expenses.

- (a) For October 1, 2024 through October 31, 2024 – fees of \$95,931.00 and expenses of \$314,169.60 (the “October Monthly Fee Statement”). A copy of the October Monthly Fee Statement is attached hereto as Schedule A-1.
- (b) For November 1, 2024 through November 30, 2024 – fees of \$66,164.50 and expenses of \$302,789.69 (the “November Monthly Fee Statement”). A copy of the November Monthly Fee Statement is attached hereto as Schedule A-2.
- (c) For December 1, 2024 through December 31, 2024 – fees of \$63,795.50 and expenses of \$521,138.70 (the “December Monthly Fee Statement”). A copy of the December Monthly Fee Statements is attached hereto as Schedule A-3.
- (d) For January 1, 2025 through January 31, 2025 – fees of \$89,172.00 and expenses of \$474,664.23 (the “January Monthly Fee Statement”). A copy of the January Monthly Fee Statement is attached hereto as Schedule A-4.

11. In total, Verus seeks the approval and allowance of fees and expenses during the Fee Period for fees of \$315,063.00 and expenses of \$1,612,762.22. A chart summarizing the monthly statements submitted during this Fee Period is below:

Application Period	Requested Fees	Requested Expenses	Total
10/1/2024 - 10/31/2024	\$95,931.00	\$314,169.60	\$410,100.60
11/1/2024 - 11/30/2024	\$66,164.50	\$302,789.69	\$368,954.19
12/1/2024 -12/31/2024	\$63,795.50	\$521,138.70	\$584,934.20
1/1/2025 - 1/31/2025	\$89,172.00	\$474,664.23	\$563,836.23
TOTAL	\$315,063.00	\$1,612,762.22	\$1,927,825.22

SUMMARY OF SERVICES

12. The professional services performed by Verus were necessary and appropriate to the administration of the Debtors' chapter 11 cases. These services were in the best interests of the Debtors, the estates, and creditors. The compensation requested is commensurate with the complexity and nature of the issues and tasks involved.

PROGRESS OF THE CHAPTER 11 CASE TO DATE

13. Since its engagement in these cases, Verus has downloaded PIQ submissions, including supporting documentation; begun the design and construction of the online data entry and capture platform; begun review and extraction of PIQ data; and commenced detailed review of supporting documentation. In addition, Verus has conducted regular conference calls with LAS regarding operations and progress to date.

14. Verus has not previously applied for payment of any fees or reimbursement of any disbursement during this Chapter 11 Case except as authorized pursuant to the Interim Fee Order, including monthly submissions of fee statements. Verus does not hold a retainer in respect of its services as PIQ Data Administrator for the Committee.

LEGAL BASIS FOR REQUESTED RELIEF

15. Section 331 of the Bankruptcy Code provides for interim compensation of professionals and incorporates the substantive standards of section 330 of the Bankruptcy Code to govern the Court's award of such compensation. Section 330 of the Bankruptcy Code provides that a court may award a professional employed under section 1103 of the Bankruptcy Code "reasonable compensation for actual, necessary services rendered . . . and . . . reimbursement for actual, necessary expenses." 11 U.S.C. § 330(a)(1)(A) and (B).

16. Section 330 of the Bankruptcy Code also sets forth the criteria for the award of such compensation and reimbursement:

In determining the amount of reasonable compensation to be awarded to . . . [a] professional person, the court shall consider the nature, the extent, and the value of such services, taking into account all relevant factors, including --

- (A) the time spent on such services;
- (B) the rates charged for such services;
- (C) whether the services were necessary to the administration of, or beneficial at the time at which the service was rendered toward the completion of, a case under this title;
- (D) whether the services were performed within a reasonable amount of time commensurate with the complexity, importance, and nature of the problem, issue, or task addressed;
- (E) with respect to a professional person, whether the person is board certified or otherwise has demonstrated skill and experience in the bankruptcy field; and
- (F) whether the compensation is reasonable based on the customary compensation charged by comparably skilled practitioners in cases other than cases under this title.

11 U.S.C. § 330(a)(3)(A)-(F).

17. The foregoing professional services performed by Verus were appropriate and necessary to the effective administration of the Chapter 11 Case. The services were in the best interests of the Committee. Compensation for the foregoing services as requested is commensurate with the complexity, importance, and nature of the problems, as well as issues or tasks involved. The professional services were performed in an appropriately expeditious and efficient manner.

18. In accordance with section 504 of the Bankruptcy Code and Fed. R. Bankr. P. 2016(a), no agreement or understanding exists between Verus and any other person for the sharing of compensation received or to be received for services rendered in or in connection with this case.

19. No agreement or understanding prohibited by 18 U.S.C. § 155 has been or will be made by Verus.

THE REQUESTED COMPENSATION SHOULD BE ALLOWED

20. The services for which Verus seeks compensation in this Amended Fifth Interim Fee Application were, at the time rendered, necessary for, beneficial to, and in the best interests of, the Committee and the Debtors' estates. The services rendered by Verus were consistently performed in a timely manner commensurate with the complexity, importance, and nature of the issues involved. In accordance with the factors enumerated in section 330 of the Bankruptcy Code, it is respectfully submitted that the amount requested by Verus is fair and reasonable given (a) the complexity of this case, (b) the time expended, (c) the nature and extent of the services rendered, (d) the value of such services, and (e) the costs of comparable services other than in a case under this title.

NO PRIOR REQUEST

21. No prior request for the relief sought in this Amended Fifth Interim Fee Application has been made to this or any other court in connection with the Chapter 11 Case apart from the delivery of the monthly fee statements.

NOTICE

22. Notice of this Amended Fifth Interim Fee Application has been provided in accordance with the Interim Fee Order. Verus submits that no other or further notice need be provided.

CONCLUSION

WHEREFORE, Verus respectfully requests that the Court: (i) enter the order attached as Exhibit A granting the Amended Fifth Interim Fee Application and authorizing interim allowance of compensation in the amount of \$315,063.00 for professional services rendered on behalf of the Official Committee of Asbestos Personal Injury Claimants of and reimbursement for actual and necessary expenses in the amount of \$1,612,762.22; (ii) direct payment by the Debtors of the

foregoing amounts less any amount already paid pursuant to the Interim Fee Order; and (iii) grant such other and further relief as the Court deems just and proper.

Date: January 29, 2026
Charlotte, North Carolina

HAMILTON STEPHENS
STEELE + MARTIN, PLLC

/s/ Glenn C. Thompson

Glenn C. Thompson (Bar No. 37221)
525 North Tryon Street, Suite 1400
Charlotte, North Carolina 28202
Telephone: (704) 344-1117
Facsimile: (704) 344-1483
gthompson@lawhssm.com
*Counsel to the Official Committee of Asbestos
Personal Injury Claimants*

Natalie D. Ramsey (admitted pro hac vice)
Davis Lee Wright (admitted pro hac vice)
Robinson & Cole, LLP
1201 N. Market Street, Suite 1406
Wilmington, DE 19801
Tel: (302) 516-1700
Fax: (302) 516-1699
nramsey@rc.com
dwright@rc.com
*Co-Counsel to the Official Committee of
Asbestos Personal Injury Claimants*

EXHIBIT A

UNITED STATES BANKRUPTCY COURT
WESTERN DISTRICT OF NORTH CAROLINA
CHARLOTTE DIVISION

In re:

ALDRICH PUMP LLC, *et al.*,¹

Debtors.

Chapter 11

Case No. 20-30608 (LMJ)

(Jointly Administered)

ORDER GRANTING THE AMENDED FIFTH INTERIM FEE APPLICATION OF VERUS, LLC, AS PIQ DATA ADMINISTRATOR TO THE OFFICIAL COMMITTEE OF ASBESTOS PERSONAL INJURY CLAIMANTS FOR PAYMENT OF INTERIM COMPENSATION AND REIMBURSEMENT OF EXPENSES INCURRED FOR THE PERIOD OCTOBER 1, 2024 THROUGH JANUARY 31, 2025

This matter coming before the Court on the *Amended Fifth Interim Fee Application of Verus, LLC as PIQ Data Administrator to the Official Committee of Asbestos Personal Injury Claimants for Payment of Interim Compensation and Reimbursement of Expenses Incurred for the Period October 1, 2024 through January 31, 2025* (the “Amended Fifth Interim Fee Application”) filed by Verus, LLC (“Verus”), PIQ data administrator to the Official Committee of Asbestos Personal Injury Claimants (the “Committee”); the Court having reviewed the Amended Fifth Interim Fee Application; the Court, noting the agreement and consent of the Debtors, having found

¹ The Debtors are the following entities (the last four digits of the Debtors’ taxpayer identification numbers follow in parentheses): Aldrich Pump LLC (2290) and Murray Boiler LLC (0679). The Debtors’ address is 800-E Beatty Street, Davidson, North Carolina 28036.

that: (a) the Court has jurisdiction over this matter pursuant to 28 U.S.C. §§ 157 and 1334; (b) this is a core proceeding pursuant to 28 U.S.C. § 157(b); (c) notice of the Amended Fifth Interim Fee Application was sufficient pursuant to Local Rule 2002-1(g) and the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* [Dkt. No. 171] (the “Interim Fee Order”) and no other or further notice is required; (d) the compensation requested in the Amended Fifth Interim Fee Application is reasonable and for actual and necessary services rendered by Verus on behalf of the Committee during the period of October 1, 2024 through January 31, 2025 (the “Fee Period”); (e) the expenses for which reimbursement is sought in the Amended Fifth Interim Fee Application are actual and necessary expenses incurred by Verus during the Fee Period on behalf of the Committee; and (f) the Amended Fifth Interim Fee Application fully complies with the Interim Fee Order, the Bankruptcy Code, the Bankruptcy Rules, the Local Rules, and the Guidelines; and the Court having determined that the legal and factual bases set forth in the Amended Fifth Interim Fee Application establish just cause for the relief granted herein:

1. The Amended Fifth Interim Fee Application is GRANTED.
2. Verus is awarded, on an interim basis, compensation for professional services rendered during the Fee Period in the amount of \$315,063.00 and reimbursement for actual and necessary expenses incurred by Verus during the Fee Period in the amount of \$1,612,762.22.
3. Within five business days of the entry of this Order, the Debtors are authorized and directed to pay Verus promptly the fees and expenses approved in this Order to the extent such amounts have not been paid previously by the Debtors.
4. The Debtors and Verus are authorized and empowered to take all actions necessary to implement the relief granted in this Order.

5. This Court shall retain jurisdiction over any and all matters arising from or related to the implementation, enforcement, or interpretation of this Order.

This Order has been signed electronically. The Judge's signature and court's seal appear at the top of the Order.	United States Bankruptcy Court
--	--------------------------------

SCHEDULE A-1

November 12, 2024
Revised: August 1, 2025
Revised: January 10, 2026

VIA ELECTRONIC MAIL TO NOTICE PARTIES ON SCHEDULE 1

RE: *In re Aldrich Pump LLC, et al.*, Case No. 20-30608 (Bankr. W.D.N.C.)
Expense Reimbursement Statement Pursuant to Order Establishing Procedures
for Interim Compensation and Reimbursement of Expenses for Professionals

Ladies and Gentlemen:

Attached please find the monthly fee statement of Verus Claims Services, LLC for fees earned and expenses incurred for the period of October 1, 2024 through October 31, 2024 (the "Statement"). The Statement is being provided to you in accordance with the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* in the above-referenced case [Docket No. 171].

Sincerely,

Mark Eveland

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



MONTHLY FEE STATEMENT

To: Notice Parties on Schedule 1, (Via E-Mail)
From: Verus Claims Services, LLC
November 12, 2024
Revised: August 1, 2025
Revised: January 10, 2026

Re: *In re: Aldrich Pump LLC, et al.* (the “Debtor”)
Case No. 20-30608
United States Bankruptcy Court
Western District of North Carolina, Charlotte Division

Pursuant to the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* entered on July 15, 2020 [Docket No. 171] (the “Compensation Order”), Verus Claims Services, LLC (“Verus”) submits this monthly fee statement (the “Statement”) as counsel to The Official Committee of Asbestos Personal Injury Claimants, for the period October 1, 2024 through October 31, 2024 (the “Fee Period”). During the Fee Period, Verus earned fees of \$95,931.00 and incurred expenses of \$314,169.60.

The Compensation Order allows retained professionals such as Verus to request payment of ninety percent (90%) of their fees and one hundred percent (100%) of their expenses on a monthly basis. This revised invoice addresses negotiations on total owed between the parties accordingly, Verus requests payment from the Debtor of 100% - **\$410,100.60** calculated as follows:

\$95,931.00 (Hourly Fees)
\$314,169.60 (Vendor Expenses)
\$410,100.60 (100%)

Attached hereto and incorporated herein as part of this Statement is Verus’ invoice describing the services rendered and the expenses incurred for the Fee Period. A summary listing of the Verus services during the Fee Period as well as an itemized list of expenses each appears in the invoice.

INVOICE

INVOICE ID: CI-0000005114

DATE: 11/12/2024

CLIENT: Aldrich Pump Claimant Committee

ADDRESS:

Terms: Net 30 Days
Due Date: 12/12/2024
Customer ID: 0110

FOR SERVICES RENDERED - SEE ATTACHED REPORTS FOR DETAILS

Hourly Services Fees (100%)	\$95,931.00
Expenses (100%)	\$314,169.60
Subtotal	\$410,100.60
Total	\$410,100.60

ACH Transfer Instructions:

Bank Name: Western Alliance Bank
Bank Address: 1 East Washington Street, Suite 2500, Phoenix, AZ 85004
Account Name: Verus Claims Services, LLC
ABA Number: 122105980
Account Number: 8307995319

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



The **Art & Science** of
complex dispute resolution.



Professional Services - Summary By Person

Row Labels	Sum of Hours	Average of Rate	Sum of Amount
Amanda Thomson	95	150	\$ 14,250.00
Communication	13.8	150	\$ 2,070.00
Quality	81.2	150	\$ 12,180.00
Betty Rekemesik	7.9	115	\$ 908.50
Quality	7.9	115	\$ 908.50
Debbie Daloisio	23.8	250	\$ 5,950.00
Communication	10.8	250	\$ 2,700.00
Quality	13	250	\$ 3,250.00
Edward Silverman	6.9	256.25	\$ 1,732.50
Analytics	3	262.5	\$ 757.50
Communication	3.9	250	\$ 975.00
Erin Sobke	3.5	115	\$ 402.50
Quality	3.5	115	\$ 402.50
Gencehan Yuksel	154.4	250	\$ 38,600.00
Communication	17.4	250	\$ 4,350.00
General Administration	137	250	\$ 34,250.00
Jean Abellard	18.5	115	\$ 2,127.50
Analytics	18.5	115	\$ 2,127.50
Jose Thomas	3	150	\$ 450.00
Analytics	3	150	\$ 450.00
Kevin Davis	172.5	115	\$ 19,837.50
Quality	172.5	115	\$ 19,837.50
Morten Iversen	15.5	350	\$ 5,425.00
Communication	15	350	\$ 5,250.00
General Administration	0.5	350	\$ 175.00
Rory Yerkes	26.5	115	\$ 3,047.50
General Administration	26.5	115	\$ 3,047.50
Sabrina Taylor	0.2	250	\$ 50.00
General Administration	0.2	250	\$ 50.00
Sara Leineek	9	350	\$ 3,150.00
General Administration	9	350	\$ 3,150.00
Grand Total	536.7	206.3	\$ 95,931.00



Employee name (Multiple Items)

Row Labels	Sum of Hours	Sum of Amount
Analytics	24.5	\$ 3,335.00
Communication	60.9	\$ 15,345.00
General Administration	173.2	\$ 40,672.50
Quality	278.1	\$ 36,578.50
Grand Total	536.7	\$ 95,931.00



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Analytics	10/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.10	325.00	32.50	Report Review and Discussion
Analytics	10/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.00	115.00	230.00	LAS weekly report and code zero
Analytics	10/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.50	250.00	125.00	Review of Files M. Totten and C. Thomas sent. Preparation of a delta file of LAS code changes between original file and recent file
Analytics	10/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.10	250.00	25.00	Review weekly reporting
Analytics	10/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.00	115.00	230.00	LAS weekly report
Analytics	10/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	1.00	250.00	250.00	Review and discussion of weekly report generation. Problem solving related to renaming of fields in DPE at LAS request.
Analytics	10/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	6.00	115.00	690.00	Rewrite Queries for weekly report Remodel Power query for weekly report Run weekly report Investigate PIQ ID on code zero report report
Analytics	10/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	2.00	150.00	300.00	Troubleshooting weekly reporting
Analytics	10/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	1.00	150.00	150.00	Preparing documents for load to DPE
Analytics	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.50	250.00	125.00	Investigate provenance and uniqueness of new PIQs from 921 batch
Analytics	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.00	115.00	230.00	LAS claim investigation
Analytics	10/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	3.50	115.00	402.50	LAS weekly report LAS report
Analytics	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.80	250.00	200.00	Investigation of C. Thomas code 0 query. Preparation of Indexing request
Analytics	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	3.00	115.00	345.00	Investigate part 8- 8A- and 8B claims for LAS
Communication	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.00	150.00	300.00	Phase 3 discussion
Communication	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Phase 3 discussion
Communication	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.80	250.00	200.00	Internal Planning Call. M. Iversen- G. Yuksel- D. Daloisio- A.Thomson- V. Chandramohan- E Silverman Left before End
Communication	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	3.10	350.00	1,085.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, E. Silverman, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio (1.1); Phase 3 discussion. Attendees: P. Naidu, G. Yuksel, M. Iversen, A. Thomson (2.0)
Communication	10/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.00	150.00	300.00	Phase 3 discussion. Attendees: P. Naidu, G. Yuksel, M. Iversen, A. Thomson
Communication	10/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.80	250.00	1,700.00	Phase 3 discussion. Attendees: P. Naidu, G. Yuksel, M. Iversen, A. Thomson (2.0); Weekly Client Meeting. Attendees: C. Thomas, M. Totten, A. Smith, G. Yuksel, M. Iversen (0.2); Meeting prep (0.1); Phase 3 project roadmap for use at meeting and client approval (4.5)
Communication	10/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.20	350.00	70.00	Weekly Client Meeting. Attendees: C. Thomas, M. Totten, A. Smith, G. Yuksel, M. Iversen (0.2)
Communication	10/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	2.00	350.00	700.00	Phase 3 discussion. Attendees: P. Naidu, G. Yuksel, M. Iversen, A. Thomson (2.0); Weekly Client Meeting. Attendees: C. Thomas, M. Totten, A. Smith, G. Yuksel, M. Iversen (0.2)
Communication	10/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, E. Silverman, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, E. Silverman, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, E. Silverman, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Communication	10/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.70	350.00	245.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, E. Silverman, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.60	250.00	150.00	Weekly Client Meeting. Attendees: C. Thomas, M. Totten, G. Yuksel, M. Iversen, E Silverman
Communication	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.60	250.00	150.00	Weekly Client Meeting. Attendees: C. Thomas, M. Totten, G. Yuksel, M. Iversen, E Silverman
Communication	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.60	350.00	210.00	Weekly Client Meeting. Attendees: C. Thomas, M. Totten, G. Yuksel, M. Iversen, E Silverman
Communication	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.00	150.00	300.00	Phase 3 discussion. Attendees: P. Naidu, G Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Phase 3 discussion. Attendees: P. Naidu, G Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	2.00	350.00	700.00	Phase 3 discussion. Attendees: P. Naidu, G Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.00	150.00	900.00	Quality review of pre-processed documents (4.0); Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson (1.3); Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson (0.7)
Communication	10/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.30	250.00	325.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson (1.3)
Communication	10/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson
Communication	10/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.80	250.00	1,700.00	PIQ reviews and did pre processing docs (5.5); Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson (1.3)
Communication	10/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.70	350.00	245.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson
Communication	10/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.30	350.00	455.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson (1.3)
Communication	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.70	250.00	175.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, G. Yuksel, M. Iversen, E. Silverman
Communication	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.70	250.00	175.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, G. Yuksel, M. Iversen, E. Silverman
Communication	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.70	350.00	245.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, G. Yuksel, M. Iversen, E. Silverman
Communication	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	0.60	150.00	90.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.60	250.00	150.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.40	250.00	100.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.40	250.00	100.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.40	350.00	140.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Communication	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.60	350.00	210.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio, A. Thomson
Communication	10/29/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio; E. Silverman
Communication	10/29/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio; E. Silverman
Communication	10/29/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio; E. Silverman
Communication	10/29/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.70	350.00	245.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio; E. Silverman
Communication	10/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.20	150.00	180.00	Phase 3 discussion with D. Daloisio
Communication	10/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Phase 3 meeting with A. Thomson
General Administration	10/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Work with document review specialists and continue orienting to Phase 1 and 2 queues
General Administration	10/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	2.30	115.00	264.50	PIQ Data Capture
General Administration	10/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	0.50	350.00	175.00	Touchpoint with G. Yuksel on staffing of program and needs at this time
General Administration	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Work with document review specialists and continue orienting to Phase 1 and 2 queues
General Administration	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	1.00	115.00	115.00	PIQ Data Capture
General Administration	10/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	4.00	250.00	1,000.00	Work with document review specialists and continue orienting to Phase 1 and 2 queues
General Administration	10/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	7.00	115.00	805.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (2.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.2)
General Administration	10/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Work with document review specialists and continue orienting to Phase 1 and 2 queues
General Administration	10/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Sabrina Taylor	0.10	250.00	25.00	Time entry process review
General Administration	10/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.00	250.00	1,750.00	Manage pre-processing queue
General Administration	10/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	3.00	115.00	345.00	PIQ Data Capture
General Administration	10/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.80	250.00	1,700.00	Manage pre-processing queue
General Administration	10/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Work with document review specialists and continue orienting to Phase 1 and 2 queues
General Administration	10/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	0.50	115.00	57.50	PIQ Data Capture
General Administration	10/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	4.00	250.00	1,000.00	Review quality results for document review team
General Administration	10/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	2.00	115.00	230.00	PIQ Data Capture
General Administration	10/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	3.50	350.00	1,225.00	PIQ Data Capture
General Administration	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.20	250.00	1,550.00	Review quality results for document review team
General Administration	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	1.00	115.00	115.00	PIQ Data Capture



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
General Administration	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Review quality results for document review team
General Administration	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	1.50	350.00	525.00	PIQ Data Capture
General Administration	10/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Review quality results for document review team
General Administration	10/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Manage review team in live environment with Phase 2 documentation
General Administration	10/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Sabrina Taylor	0.10	250.00	25.00	Time entry process review
General Administration	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.10	250.00	1,525.00	Review of supporting / supplemental documents for claimant population (3.6); Data Entry from extracted information in various PIQ sections (2.5)
General Administration	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	2.00	350.00	700.00	PIQ Data Capture Review of supporting / supplemental documents for claimant population (3.5); Data Entry from extracted information in various PIQ sections (2.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	10/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	
General Administration	10/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	1.50	350.00	525.00	PIQ Data Capture
General Administration	10/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.00	250.00	1,750.00	PIQ Data Processing
General Administration	10/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	2.00	115.00	230.00	PIQ Data Capture Review of supporting / supplemental documents for claimant population (3.5); Data Entry from extracted information in various PIQ sections (2.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	Review of supporting / supplemental documents for claimant population (3.0); Data Entry from extracted information in various PIQ sections (1.2); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	4.70	115.00	540.50	Review of supporting / supplemental documents for claimant population (3.5); Data Entry from extracted information in various PIQ sections (2.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	10/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	communication forum (0.5)
General Administration	10/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	1.00	115.00	115.00	PIQ Data Capture
General Administration	10/27/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	2.00	115.00	230.00	PIQ Data Capture Review of supporting / supplemental documents for claimant population (3.6); Data Entry from extracted information in various PIQ sections (2.5)
General Administration	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.10	250.00	1,525.00	Review of supporting / supplemental documents for claimant population (3.0); Data Entry from extracted information in various PIQ sections (1.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	10/29/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5.30	250.00	1,325.00	
General Administration	10/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.00	250.00	1,500.00	Manage pre-processing queue
General Administration	10/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.50	350.00	175.00	Phase 3 application testing Review of supporting / supplemental documents for claimant population (3.5); Data Entry from extracted information in various PIQ sections (2.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	10/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	communication forum (0.5)



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	10/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.20	150.00	930.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.2); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	10/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Review quality outcomes and reporting
Quality	10/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.00	150.00	600.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.50	250.00	125.00	Quality review of PIQ data entry
Quality	10/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.00	150.00	600.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Quality review of PIQ data entry
Quality	10/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	10/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.00	150.00	900.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.50	250.00	625.00	Review quality outcomes and reporting
Quality	10/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.00	150.00	300.00	Quality review of pre-processed documents Quality review of PIQ data entry
Quality	10/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.70	150.00	555.00	Quality review of pre-processed documents Quality review of PIQ data entry



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	10/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.50	150.00	825.00	Quality review of pre-processed documents Quality review of PIQ data entry
Quality	10/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.20	150.00	930.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.2); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	10/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Quality review of PIQ data entry
Quality	10/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.20	150.00	480.00	Quality review of pre-processed documents Quality review of PIQ data entry
Quality	10/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Quality review of PIQ data entry
Quality	10/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.50	150.00	675.00	Quality review of PIQ entries and comparison to referenced supporting documents (4.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Quality review of PIQ data entry
Quality	10/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.90	150.00	585.00	Phase 3 discussion. Attendees: P. Naidu, G Yuksel, M. Iversen, D. Daloisio, A. Thomson
Quality	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.50	250.00	125.00	Quality review of PIQ data entry
Quality	10/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	10/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.00	150.00	900.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	10/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.50	150.00	375.00	Quality review of pre-processed documents Quality review of PIQ data entry
Quality	10/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.20	150.00	180.00	Quality review of PIQ data entry
Quality	10/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.50	150.00	225.00	Quality review of PIQ data entry
Quality	10/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.00	150.00	150.00	Quality review of PIQ data entry
Quality	10/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.50	150.00	825.00	Quality review of PIQ data entry
Quality	10/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.00	150.00	150.00	Quality review of PIQ data entry
Quality	10/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Quality review of PIQ data entry



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	10/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.00	150.00	450.00	Quality review of PIQ entries and comparison to referenced supporting documents (2.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/28/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/29/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.80	150.00	270.00	Quality review of PIQ data entry
Quality	10/29/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.50	150.00	675.00	Quality review of PIQ entries and comparison to referenced supporting documents (4.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Betty Rekemesik	4.00	115.00	460.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.00	150.00	600.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Betty Rekemesik	3.90	115.00	448.50	Quality review of PIQ data entry
Quality	10/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	3.50	115.00	402.50	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	10/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
				536.70		\$ 95,931.00	

Verus Claims Services, LLC
 Professional Services
 Rendered Aldrich Pump Claimant Committee

DATE	Vendor	PROJECT/TASK	DESCRIPTION	RATE
10/01/2024	STF	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services	\$ 1,094.17
10/31/2024	PeopleShare	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 91,229.94
10/31/2024	Robert Half	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 190,104.89
10/31/2024	EfficiencyWare	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Development and custom configuration	\$ 31,590.60
10/01/2024	Microsoft	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Microsoft access	\$ 150.00
Total				\$ 314,169.60

SCHEDULE A-2

December 23, 2024
Revised: August 1, 2025
Revised: January 10, 2026

VIA ELECTRONIC MAIL TO NOTICE PARTIES ON SCHEDULE 1

RE: *In re Aldrich Pump LLC, et al.*, Case No. 20-30608 (Bankr. W.D.N.C.)
Expense Reimbursement Statement Pursuant to Order Establishing Procedures
for Interim Compensation and Reimbursement of Expenses for Professionals

Ladies and Gentlemen:

Attached please find the monthly fee statement of Verus Claims Services, LLC for fees earned and expenses incurred for the period of November 1, 2024 through November 30, 2024 (the "Statement"). The Statement is being provided to you in accordance with the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* in the above-referenced case [Docket No. 171].

Sincerely,

Mark Eveland

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



MONTHLY FEE STATEMENT

To: Notice Parties on Schedule 1, (Via E-Mail)
From: Verus Claims Services, LLC
December 23, 2024
Revised: August 1, 2025
Revised: January 10, 2026

Re: *In re: Aldrich Pump LLC, et al.* (the “Debtor”)
Case No. 20-30608
United States Bankruptcy Court
Western District of North Carolina, Charlotte Division

Pursuant to the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* entered on July 15, 2020 [Docket No. 171] (the “Compensation Order”), Verus Claims Services, LLC (“Verus”) submits this monthly fee statement (the “Statement”) as counsel to The Official Committee of Asbestos Personal Injury Claimants, for the period November 1, 2024 through November 30, 2024 (the “Fee Period”). During the Fee Period, Verus earned fees of \$66,164.50 and incurred expenses of \$302,789.69.

The Compensation Order allows retained professionals such as Verus to request payment of ninety percent (90%) of their fees and one hundred percent (100%) of their expenses on a monthly basis. This revised invoice addresses negotiations on total owed between the parties accordingly, Verus requests payment from the Debtor of 100% - **\$368,954.19** calculated as follows:

\$66,164.50 (Hourly Fees)
\$302,789.69 (Vendor Expenses)
\$368,954.19 (100%)

Attached hereto and incorporated herein as part of this Statement is Verus’ invoice describing the services rendered and the expenses incurred for the Fee Period. A summary listing of the Verus services during the Fee Period as well as an itemized list of expenses each appears in the invoice.

INVOICE

INVOICE ID: CI-0000005212

DATE: 12/23/2024

CLIENT: Aldrich Pump Claimant Committee

ADDRESS:

Terms: Net 30 Days
Due Date: 01/22/2025
Customer ID: 0110

FOR SERVICES RENDERED - SEE ATTACHED REPORTS FOR DETAILS

Hourly Services Fees (100%)	\$66,164.50
Expenses (100%)	\$302,789.69

Subtotal \$368,954.19

Total \$368,954.19

ACH Transfer Instructions:

Bank Name: Western Alliance Bank

Bank Address: 1 East Washington Street, Suite 2500, Phoenix, AZ 85004

Account Name: Verus Claims Services, LLC

ABA Number: 122105980

Account Number: 8307995319

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



The **Art & Science** of
complex dispute resolution.



Professional Services - Summary By Person

Row Labels	Sum of Hours	Average of Rate	Sum of Amount
Amanda Thomson	81.2	150	12,180.00
Communication	4.60	150	690.00
General Administration	74.60	150	11,190.00
Quality	2.00	150	300.00
Betty Rekemesik	1	115	115.00
Quality	1.00	115	115.00
Debbie Daloisio	28.1	250	7,025.00
Communication	4.10	250	1,025.00
General Administration	4.50	250	1,125.00
Quality	19.50	250	4,875.00
Edward Silverman	6.3	250	1,575.00
Analytics	1.70	250	425.00
Communication	4.60	250	1,150.00
Erin Sobke	97.6	115	11,224.00
Quality	97.60	115	11,224.00
Gencehan Yuksel	89	250	22,250.00
Communication	3.80	250	950.00
General Administration	85.20	250	21,300.00
Jean Abellard	18.5	115	2,127.50
Analytics	18.50	115	2,127.50
Jose Thomas	8.5	150	1,275.00
Analytics	8.50	150	1,275.00
Kevin Davis	31	115	3,565.00
General Administration	31.00	115	3,565.00
Morten Iversen	9	350	3,150.00
Communication	4.30	350	1,505.00
General Administration	4.70	350	1,645.00
Rory Yerkes	2.2	115	253.00
General Administration	2.20	115	253.00
Sabrina Taylor	0.8	250	200.00
General Administration	0.80	250	200.00
Sara Leineek	3.5	350	1,225.00
General Administration	3.50	350	1,225.00
Grand Total	376.70	205	66,164.50

- \$ -



Employee name (Multiple Items)

Row Labels	Sum of Hours	Sum of Amount
Analytics	28.70	\$ 3,827.50
Communication	21.40	\$ 5,320.00
General Administration	206.50	\$ 40,503.00
Quality	120.10	\$ 16,514.00
Grand Total	376.70	\$ 66,164.50



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Analytics	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.20	250.00	50.00	Invetigation of numbers appearing in part 8
Analytics	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	1.50	115.00	172.50	LAS weekly report
Analytics	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.20	250.00	50.00	Discussion and correspondence around indexing of documents
Analytics	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	2.00	150.00	300.00	Reviewing document index
Analytics	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	3.00	150.00	450.00	Preparing documents for Document Processing Engine
Analytics	11/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	1.50	115.00	172.50	LAS weekly report
Analytics	11/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.30	250.00	75.00	Examination and discussion of PIQID numbers for further review
Analytics	11/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	3.50	115.00	402.50	LAS weekly report (1.5); Investigate claims for G. Yuksel (2.0)
Analytics	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	1.00	250.00	250.00	Meeting with J. Abellard re PIQID follow up
Analytics	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	4.00	115.00	460.00	AP PIQ search
Analytics	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	3.50	115.00	402.50	AP PIQ search and report updates
Analytics	11/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	0.50	115.00	57.50	Send docs to J. Thomas to send to DPE
Analytics	11/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.50	115.00	287.50	LAS weekly report
Analytics	11/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	3.50	150.00	525.00	Preparing documents to be loaded into the DPE
Analytics	11/27/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	1.50	115.00	172.50	Weekly LAS report
Communication	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	0.90	150.00	135.00	Quality review of PIQ data entry
Communication	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.70	250.00	175.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.70	250.00	175.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.70	350.00	245.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	0.90	150.00	135.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Communication	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.90	250.00	225.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.90	250.00	225.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.90	250.00	225.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.90	350.00	315.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.00	150.00	150.00	Meeting with team from LAS. Attendees: P. Naidu, G. Yuksel, A. Thomson, M. Iversen, D. Daloisio
Communication	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Meeting with team from LAS. Attendees: P. Naidu, G. Yuksel, A. Thomson, M. Iversen, D. Daloisio
Communication	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.50	250.00	125.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.50	250.00	125.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.50	350.00	175.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman
Communication	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.70	250.00	175.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.70	350.00	245.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio
Communication	11/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	0.80	150.00	120.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio (0.7), meeting prep (0.1)
Communication	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.00	150.00	150.00	Phase 3 discussion: M. Iverson, A. Thomson, G. Yuksel, P. Ebner, P. Naidu, D. Daloisio
Communication	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Phase 3 discussion: M. Iverson, A. Thomson, G. Yuksel, P. Ebner, P. Naidu, D. Daloisio
Communication	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.90	250.00	225.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, A. Smith, G. Yuksel, M. Iversen, E Silverman (0.3); Meet with M. Totten, V. Chandramohan, El.
Communication	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.50	250.00	125.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, A. Smith, G. Yuksel, M. Iversen, E Silverman (0.3); Meeting prep (0.2)
Communication	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.30	350.00	105.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, A. Smith, G. Yuksel, M. Iversen, E Silverman (0.3)
Communication	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.50	250.00	125.00	Aldrich Trust Pre Populated Info -Mass Population Attendees: G. Yuksel, C. Bandi, V. Chandramohan
Communication	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.50	250.00	125.00	Aldrich Trust Pre Populated Info -Mass Population Attendees: G. Yuksel, C. Bandi, V. Chandramohan
Communication	11/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.50	250.00	125.00	Client Meeting D. Daloisio, P. Ebener, A. Thomson, P. Naidu, M. Iversen (left early)
Communication	11/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.40	250.00	100.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, M. Iversen, E Silverman
Communication	11/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.40	350.00	140.00	Weekly Client Meeting. Attendees: P Ebener- C. Thomas- M. Totten- M. Iversen- E Silverman .4
Communication	11/26/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.80	350.00	280.00	Weekly Steering Committee Meeting. Attendees: M.Iversen, A. Thomson, D. Daloisio (0.3); Review of data (0.5)
General Administration	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	4.50	250.00	1,125.00	Document review on PIQs and supervision to Document Reviewer Team



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
General Administration	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Sabrina Taylor	0.20	250.00	50.00	Reset employee accounts to allow timesheet access for Document Review Team and verify employee status w/ accounting
General Administration	11/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Rory Yerkes	2.20	115.00	253.00	Personal Injury Questionnaire Data Capture
General Administration	11/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	0.50	150.00	75.00	PIQ Data Review
General Administration	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.00	150.00	450.00	PIQ Data Review
General Administration	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.80	250.00	1,700.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.90	350.00	315.00	Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, A. Smith, G. Yuksel, M. Iversen, E Silverman (0.7), meeting prep (0.2)
General Administration	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	1.00	350.00	350.00	Reviews of staff work progress
General Administration	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.40	150.00	360.00	PIQ Data Review
General Administration	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5.10	250.00	1,275.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.50	150.00	525.00	PIQ Data Review
General Administration	11/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.00	250.00	1,500.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	7.50	115.00	862.50	status updates and general queries with team and supervisors via email and team
General Administration	11/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.00	150.00	750.00	Review of supporting / supplemental documents for claimant population (3.0); Data Entry from extracted information in various PIQ sections (2.0)
General Administration	11/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.00	250.00	1,750.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Kevin Davis	1.00	115.00	115.00	Quality review of PIQ data entry
General Administration	11/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.50	350.00	525.00	Phase 3 discussion. Attendees: P. Naidu LAS - G Yuksel- M. Iversen- A. Thomson Verus 1.5
General Administration	11/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.00	150.00	300.00	PIQ Data Review
General Administration	11/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	2.50	350.00	875.00	October invoice review for submission



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
General Administration	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.50	150.00	225.00	PIQ Data Review
General Administration	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Meeting with team from LAS. Attendees: P. Naidu, G. Yuksel, A. Thomson, M. Iversen, D. Daloisio
General Administration	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.30	250.00	1,575.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Phase 3 discussion. Attendees: P. Naidu LAS - G Yuksel- M. Iversen- A. Thomson- D. Daloisio Verus 1.0
General Administration	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.50	150.00	225.00	PIQ Data Review
General Administration	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5.30	250.00	1,325.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.00	150.00	750.00	Review of supporting / supplemental documents for claimant population (3.0); Data Entry from extracted information in various PIQ sections (2.0)
General Administration	11/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5.60	250.00	1,400.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.00	150.00	600.00	Review of supporting / supplemental documents for claimant population (4.5); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.00	250.00	1,500.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.50	150.00	825.00	Review of supporting / supplemental documents for claimant population (2.5); Data Entry from extracted information in various PIQ sections (1.0); Intermittent
General Administration	11/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.00	250.00	1,500.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.20	150.00	780.00	Review of supporting / supplemental documents for claimant population (3.2); Data Entry from extracted information in various PIQ sections (2.0)
General Administration	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	1.50	250.00	375.00	Phase 3 discussion: M. Iversen, A. Thomson, G. Yuksel, P. Ebner, P. Naidu, D. Daloisio (1.0); Meeting prep and follow ups (0.5)
General Administration	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5.50	250.00	1,375.00	PIQ Data Entry and Management
General Administration	11/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Phase 3 discussion: M. Iversen, A. Thomson, G. Yuksel, P. Ebner, P. Naidu, D. Daloisio
General Administration	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.00	150.00	900.00	Review of supporting / supplemental documents for claimant population (3.5); Data Entry from extracted information in various PIQ sections (2.0); Intermittent
General Administration	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	3.50	250.00	875.00	Quality review of PIQ data entry
General Administration	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.60	250.00	1,650.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/20/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	7.00	150.00	1,050.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (2.5); Intermittent
General Administration	11/20/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	Document review on PIQs and supervision to Document Reviewer Team
General Administration	11/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.20	150.00	180.00	PIQ Data Review
General Administration	11/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	8.50	150.00	1,275.00	Review of supporting / supplemental documents for claimant population (4.5); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Sabrina Taylor	0.60	250.00	150.00	Update new document review employee timekeeping profiles



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
General Administration	11/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.20	150.00	630.00	Review of supporting / supplemental documents for claimant population (4.7); Data Entry from extracted information in various PIQ sections (3.0); Intermittent Weekly Client Meeting. Attendees: P. Ebener, C. Thomas, M. Totten, M. Iversen, E. Silverman (0.4); Client Meeting D. Daloisio, P. Ebener, A. Thomson, P. Naidu, M.
General Administration	11/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.30	350.00	105.00	Review of supporting / supplemental documents for claimant population (4.9); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/26/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.40	150.00	660.00	Review of supporting / supplemental documents for claimant population (4.7); Data Entry from extracted information in various PIQ sections (3.0); Intermittent
General Administration	11/27/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.20	150.00	630.00	Data Entry from extracted information in various PIQ sections (3.0); Intermittent
Quality	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.00	150.00	300.00	Quality review of PIQ data entry
Quality	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Betty Rekesesik	1.00	115.00	115.00	Quality review of PIQ data entry
Quality	11/1/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	0.90	115.00	103.50	Quality review of PIQ data entry
Quality	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Quality review of PIQ data entry
Quality	11/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	1.50	115.00	172.50	Quality review of PIQ data entry
Quality	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Quality review of PIQ data entry
Quality	11/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	3.50	115.00	402.50	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Intermittent status updates and general queries with team and
Quality	11/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	4.00	115.00	460.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Intermittent status updates and general queries with team and
Quality	11/7/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	0.50	115.00	57.50	Quality review of PIQ data entry
Quality	11/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.50	250.00	625.00	Quality review of PIQ data entry
Quality	11/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.20	115.00	828.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.2); Intermittent status updates and general queries with team and
Quality	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Quality review of PIQ data entry
Quality	11/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.20	115.00	828.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.2); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.0)
Quality	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Quality review of PIQ data entry
Quality	11/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	8.00	115.00	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (7.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.0)
Quality	11/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Report output review
Quality	11/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	8.00	115.00	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (7.0); Intermittent status updates and general queries with team and
Quality	11/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.20	250.00	50.00	Report review
Quality	11/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.80	250.00	200.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman, D. Daloisio (0.7), meeting prep (0.1)
Quality	11/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.20	115.00	828.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.2); Intermittent status updates and general queries with team and



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	11/15/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	6.20	115.00	713.00	Quality review of PIQ entries and comparison to referenced supporting documents (5.7); Intermittent status updates and general queries with team and
Quality	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Review of previous week reporting
Quality	11/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.00	115.00	805.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.4); Intermittent status updates and general queries with team and
Quality	11/20/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Quality review of PIQ data entry
Quality	11/20/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Intermittent status updates and general queries with team and
Quality	11/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Quality review of PIQ data entry
Quality	11/21/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	3.60	115.00	414.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Intermittent status updates and general queries with team and
Quality	11/22/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	6.30	115.00	724.50	Quality review of PIQ entries and comparison to referenced supporting documents (5.7); Intermittent status updates and general queries with team and
Quality	11/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Quality review of PIQ data entry
Quality	11/25/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.10	115.00	816.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Intermittent status updates and general queries with team and
Quality	11/26/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	3.50	250.00	875.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Intermittent status updates and general queries with team and
Quality	11/26/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.20	115.00	828.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.2); Intermittent status updates and general queries with team and
Quality	11/27/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	4.70	115.00	540.50	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Intermittent status updates and general queries with team and
				<u>376.70</u>		<u>\$ 66,164.50</u>	

Verus Claims Services, LLC
 Professional Services
 Rendered Aldrich Pump Claimant Committee

DATE	Vendor	PROJECT/TASK	DESCRIPTION	RATE
11/01/2024	STF	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services	\$ 2,109.33
11/30/2024	PeopleShare	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 81,471.13
11/30/2024	Robert Half	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 116,384.47
11/30/2024	Brainworks	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 81,273.96
11/30/2024	EfficiencyWare	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Development and custom configuration	\$ 21,370.80
11/01/2024	Microsoft	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Microsoft access	\$ 180.00
Total				\$ 302,789.69

SCHEDULE A-3

January 28, 2025
Revised: August 1, 2025
Revised: January 10, 2026

VIA ELECTRONIC MAIL TO NOTICE PARTIES ON SCHEDULE 1

RE: *In re Aldrich Pump LLC, et al.*, Case No. 20-30608 (Bankr. W.D.N.C.)
Expense Reimbursement Statement Pursuant to Order Establishing Procedures
for Interim Compensation and Reimbursement of Expenses for Professionals

Ladies and Gentlemen:

Attached please find the monthly fee statement of Verus Claims Services, LLC for fees earned and expenses incurred for the period of December 1, 2024 through December 31, 2024 (the "Statement"). The Statement is being provided to you in accordance with the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* in the above-referenced case [Docket No. 171].

Sincerely,

Mark Eveland

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



MONTHLY FEE STATEMENT

To: Notice Parties on Schedule 1, (Via E-Mail)
From: Verus Claims Services, LLC
January 28, 2025
Revised: August 1, 2025
Revised: January 10, 2026

Re: *In re: Aldrich Pump LLC, et al.* (the “Debtor”)
Case No. 20-30608
United States Bankruptcy Court
Western District of North Carolina, Charlotte Division

Pursuant to the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* entered on July 15, 2020 [Docket No. 171] (the “Compensation Order”), Verus Claims Services, LLC (“Verus”) submits this monthly fee statement (the “Statement”) as counsel to The Official Committee of Asbestos Personal Injury Claimants, for the period December 1, 2024 through December 31, 2024 (the “Fee Period”). During the Fee Period, Verus earned fees of \$63,795.50 and incurred expenses of \$521,138.70.

The Compensation Order allows retained professionals such as Verus to request payment of ninety percent (90%) of their fees and one hundred percent (100%) of their expenses on a monthly basis. This revised invoice addresses negotiations on total owed between the parties accordingly, Verus requests payment from the Debtor of 100% - **\$584,934.20** calculated as follows:

\$63,795.50 (Hourly Fees)
\$521,138.70 (Vendor Expenses)
\$584,934.20 (100%)

Attached hereto and incorporated herein as part of this Statement is Verus’ invoice describing the services rendered and the expenses incurred for the Fee Period. A summary listing of the Verus services during the Fee Period as well as an itemized list of expenses each appears in the invoice.

INVOICE

INVOICE ID: CI-0000005296

DATE: 01/28/2025

CLIENT: Aldrich Pump Claimant Committee

ADDRESS:

Terms: Net 30 Days
Due Date: 02/27/2025
Customer ID: 0110

FOR SERVICES RENDERED - SEE ATTACHED REPORTS FOR DETAILS

Hourly Services Fees (100%)	\$63,795.50
Expenses (100%)	\$521,138.70
Subtotal	\$584,934.20
Total	\$584,934.20

ACH Transfer Instructions:

Bank Name: Western Alliance Bank
Bank Address: 1 East Washington Street, Suite 2500, Phoenix, AZ 85004
Account Name: Verus Claims Services, LLC
ABA Number: 122105980
Account Number: 8307995319

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



The **Art & Science** of
complex dispute resolution.



Professional Services - Summary By Person

Row Labels	Sum of Hours	Average of Rate	Sum of Amount
Amanda Thomson	49.30	150	7,395.00
Communication	1.00	150	150.00
Quality	48.30	150	7,245.00
Debbie Daloisio	18.80	250	4,700.00
Communication	4.30	250	1,075.00
General Administration	1.50	250	375.00
Quality	13.00	250	3,250.00
Edward Silverman	4.90	250	1,225.00
Analytics	1.60	250	400.00
Communication	3.30	250	825.00
Erin Sobke	15.60	115	1,794.00
Quality	15.60	115	1,794.00
Gencehan Yuksel	133.70	250	33,425.00
Communication	13.40	250	3,350.00
General Administration	120.30	250	30,075.00
Jean Abellard	68.10	115	7,831.50
Analytics	68.10	115	7,831.50
Jose Thomas	10.00	150	1,500.00
Analytics	10.00	150	1,500.00
Morten Iversen	12.30	350	4,305.00
Communication	6.80	350	2,380.00
General Administration	5.50	350	1,925.00
Sabrina Taylor	0.60	250	150.00
General Administration	0.60	250	150.00
Sara Leineek	4.20	350	1,470.00
Communication	0.50	350	175.00
General Administration	3.70	350	1,295.00
Grand Total	317.50	229	63,795.50



Employee name (Multiple Items)

Row Labels	Sum of Hours	Sum of Amount
Analytics	79.7	\$ 9,731.50
Communication	29.3	\$ 7,955.00
General Administration	131.6	\$ 33,820.00
Quality	76.9	\$ 12,289.00
Grand Total	317.5	\$ 63,795.50



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Detailed Description
Analytics	12/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	0.50	115.00	57.50	LAS Coding report follow up
Analytics	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	2.00	150.00	300.00	Planning for future reporting
Analytics	12/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.50	115.00	287.50	LAS Coding investigation
Analytics	12/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	4.00	150.00	600.00	Planning for future reporting
Analytics	12/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	5.20	115.00	598.00	LAS Coding report follow up
Analytics	12/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.00	115.00	230.00	LAS weekly report
Analytics	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	3.00	115.00	345.00	LAS Coding report follow up
Analytics	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	2.00	150.00	300.00	Preparing documents for Document Processing Engine
Analytics	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	3.50	115.00	402.50	LAS Coding report follow up
Analytics	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Jose Thomas	2.00	150.00	300.00	Planning for future reporting
Analytics	12/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	3.50	115.00	402.50	LAS Coding report follow up
Analytics	12/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	1.10	250.00	275.00	Development of additional internal and external reports for Phase 3
Analytics	12/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	1.50	115.00	172.50	LAS weekly report
Analytics	12/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	7.00	115.00	805.00	Productivity Power BI report for phase 3
Analytics	12/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	5.00	115.00	575.00	LAS Coding report follow up
Analytics	12/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.50	250.00	125.00	Final review of document level reporting for handoff to team to schedule
Analytics	12/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	6.00	115.00	690.00	LAS Coding report follow up
Analytics	12/20/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	1.30	115.00	149.50	Run phase 3 test reporting
Analytics	12/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.20	115.00	253.00	LAS Coding report follow up
Analytics	12/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	4.70	115.00	540.50	LAS Coding report follow up
Analytics	12/26/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	4.80	115.00	552.00	LAS Coding report follow up
Analytics	12/27/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	2.30	115.00	264.50	LAS Coding report follow up
Analytics	12/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	7.30	115.00	839.50	Phase 3 coding follow up reporting for G. Yuksel
Analytics	12/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Jean Abellard	5.80	115.00	667.00	Phase 3 coding follow up reporting for G. Yuksel
Communication	12/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.40	250.00	100.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, M. Iversen, E Silverman
Communication	12/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.40	350.00	140.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, M. Iversen, E Silverman
Communication	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.80	250.00	200.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Detailed Description
Communication	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.80	250.00	200.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman
Communication	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.80	250.00	200.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman
Communication	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.80	350.00	280.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman
Communication	12/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Phase 3 discussion meeting. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio
Communication	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.50	250.00	125.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, G. Yuksel, M. Iversen, E. Silverman
Communication	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.50	250.00	125.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, G. Yuksel, M. Iversen, E. Silverman
Communication	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.50	350.00	175.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, G. Yuksel, M. Iversen, E. Silverman
Communication	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.50	250.00	125.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, G. Yuksel, M. Iversen, E. Silverman
Communication	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.50	250.00	125.00	Phase 3 discussion. Attendees: P Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio
Communication	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.50	350.00	175.00	Phase 3 discussion. Attendees: P Ebener, P. Naidu, G. Yuksel, M. Iversen, D. Daloisio
Communication	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.00	150.00	150.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E. Silverman, V. Chandramohan
Communication	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E. Silverman, V. Chandramohan
Communication	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	1.00	250.00	250.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E. Silverman, V. Chandramohan
Communication	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	1.00	250.00	250.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E. Silverman, V. Chandramohan
Communication	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E. Silverman, V. Chandramohan
Communication	12/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.40	250.00	100.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen
Communication	12/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.40	350.00	140.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen
Communication	12/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.40	250.00	100.00	Weekly Client Meeting. Attendees: P Ebener, M. Totten, C. Thomas, A. Smith, G Yuksel, M. Iversen
Communication	12/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.40	350.00	140.00	Weekly Client Meeting. Attendees: P Ebener, M. Totten, C. Thomas, A. Smith, G Yuksel, M. Iversen
Communication	12/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	0.50	350.00	175.00	Call with G. Yuksel, V. Chandramohan, and D. Daloisio re Timeline and Configuration needs to accommodate Phase 3 work
Communication	12/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.50	350.00	175.00	Phase 3 discussion. Attendees: G. Yuksel, M. Iversen, V. Chandramohan (left early), C. Bandi (0.5)
Communication	12/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.60	250.00	150.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman, V. Chandramohan
Communication	12/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Edward Silverman	0.60	250.00	150.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman, V. Chandramohan
Communication	12/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.60	250.00	150.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman, V. Chandramohan
Communication	12/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.60	350.00	210.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E Silverman, V. Chandramohan
Communication	12/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Phase 3 training manual review. Attendees: P. Naidu, P. Ebener, G. Yuksel, D. Daloisio
Communication	12/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.50	250.00	125.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, A. Smith, G. Yuksel



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Detailed Description
Communication	12/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.00	250.00	1,750.00	Phase 3 discussion. Attendees: P. Naidu, P. Ebener, G. Yuksel
Communication	12/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	1.00	250.00	250.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, A. Thomson, D. Daloisio
Communication	12/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.30	250.00	75.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, A. Smith, G Yuksel, M. Iversen
Communication	12/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.30	350.00	105.00	Weekly Client Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, A. Smith, G Yuksel, M. Iversen
Communication	12/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.40	250.00	100.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, D. Daloisio; V. Chandramohan
Communication	12/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	0.40	250.00	100.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, D. Daloisio; V. Chandramohan
Communication	12/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.40	350.00	140.00	Weekly Steering Committee Meeting. Attendees: G. Yuksel, M. Iversen, D. Daloisio; V. Chandramohan
General Administration	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.20	250.00	1,550.00	Review testing updates related to Document and Claims Processing Engines
General Administration	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	0.50	350.00	175.00	Call with G. Yuksel and A. Thomson re: timeline for project wrap up of phase 3
General Administration	12/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.00	250.00	1,750.00	IT Needs review of spreadsheet (0.8); PIQ data capture (6.2)
General Administration	12/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.50	250.00	1,875.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	12/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	2.00	350.00	700.00	Created formulas to supplement missing Trust Names in the Excel sheet named
General Administration	12/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	0.70	350.00	245.00	Call with G. Yuksel- D. Daloisio- A. Thomson re timeline write up- review notes and send via email to A. Smith
General Administration	12/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.10	250.00	1,775.00	IT Needs review of spreadsheet (1.2); PIQ data capture (5.9)
General Administration	12/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Sabrina Taylor	0.60	250.00	150.00	Update time keeping profiles for all staff on project
General Administration	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	4.30	250.00	1,075.00	Review of supporting / supplemental documents for claimant population (2.5); Data Entry from extracted information in various PIQ sections (1.8)
General Administration	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	1.50	250.00	375.00	Training Manual review and updates and communication related to updates with all teams
General Administration	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.50	350.00	525.00	Created formulas to supplement missing Trust Names in the Excel sheet named
General Administration	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	Review and prioritization of IT enhancements and development requests (1.5); PIQ data capture (5.0)
General Administration	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Created formulas to supplement missing Trust Names in the Excel sheet
General Administration	12/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.00	250.00	1,750.00	PIQ Data Capture and review of system enhancement demo
General Administration	12/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.00	250.00	1,500.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (2.0)
General Administration	12/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	1.00	350.00	350.00	Created formulas to supplement missing Trust Names in the Excel sheet
General Administration	12/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	1.00	350.00	350.00	Invoice time entry review for submission
General Administration	12/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	3.50	250.00	875.00	Training Manual review and updates and communication related to updates with all teams
General Administration	12/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	0.50	350.00	175.00	Call with D. McDonald- A. Smith and D. Wright regarding outstanding invoices and hold back payments



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Detailed Description
General Administration	12/14/2024	Aldrich Pump Personal Injury Questionnaire Review	Sara Leineek	1.00	350.00	350.00	Invoice time entry review for submission
General Administration	12/16/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.40	250.00	1,600.00	Work with LAS in system to ensure enhancements are implemented as requested
General Administration	12/17/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.90	250.00	1,725.00	Work with LAS in system to ensure enhancements are implemented as requested
General Administration	12/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Training Manual review and updates
General Administration	12/18/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	Work with LAS in system to ensure enhancements are implemented as requested
General Administration	12/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.40	250.00	1,600.00	Administration System testing
General Administration	12/20/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.80	250.00	1,700.00	Work with LAS in system to ensure enhancements are implemented as requested
General Administration	12/23/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	Review of supporting / supplemental documents for claimant population (2.5); Data Entry from extracted information in various PIQ sections (2.0)
General Administration	12/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	3.50	250.00	875.00	Administration System testing
General Administration	12/26/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.10	250.00	1,775.00	Administration System testing
General Administration	12/27/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	4.00	250.00	1,000.00	Administration System testing
General Administration	12/30/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.50	250.00	1,625.00	Review and test Claims Processing Engine with document flow
General Administration	12/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	3.10	250.00	775.00	Review and test Claims Processing Engine with document flow
Quality	12/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.30	150.00	945.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.3); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	12/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Quality review of PIQ data entry
Quality	12/2/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	7.50	115.00	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Quality review of PIQ data entry
Quality	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.00	150.00	900.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Quality review of PIQ data entry
Quality	12/3/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	6.20	115.00	713.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.2); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	12/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.00	150.00	600.00	Quality review of PIQ data entry
Quality	12/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Quality review of PIQ data entry
Quality	12/4/2024	Aldrich Pump Personal Injury Questionnaire Review	Erin Sobke	1.90	115.00	218.50	Quality review of PIQ data entry



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Detailed Description
Quality	12/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.70	150.00	405.00	Quality review of PIQ data entry
Quality	12/5/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.50	250.00	375.00	Quality review of PIQ data entry
Quality	12/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.10	150.00	315.00	Quality review of PIQ data entry
Quality	12/6/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.00	250.00	500.00	Quality review of PIQ data entry
Quality	12/8/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	0.50	150.00	75.00	Quality review of PIQ data entry
Quality	12/9/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	2.50	250.00	625.00	Quality review of PIQ data entry
Quality	12/10/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.50	150.00	525.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	12/11/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.20	150.00	780.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.7); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	12/12/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.60	150.00	540.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.1); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	12/13/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	2.20	150.00	330.00	Quality review of PIQ data entry
Quality	12/19/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.20	150.00	930.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.2); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.5)
Quality	12/20/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.00	150.00	750.00	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	12/24/2024	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	1.00	150.00	150.00	Quality review of PIQ data entry
Quality	12/31/2024	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.00	250.00	250.00	Quality review of PIQ data entry
				317.50		\$ 63,795.50	

Verus Claims Services, LLC
 Professional Services
 Rendered Aldrich Pump Claimant Committee

DATE	Vendor	PROJECT/TASK	DESCRIPTION	RATE
12/01/2024	STF	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services	\$ 1,908.03
12/31/2024	PeopleShare	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 73,723.77
12/31/2024	Robert Half	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 104,432.81
12/31/2024	Brainworks	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 319,316.99
12/31/2024	EfficiencyWare	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Development and custom configuration	\$ 21,451.10
12/1/2024	Microsoft	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Microsoft access	\$ 306.00
Total				\$ 521,138.70

SCHEDULE A-4

March 3, 2025
Revised: August 1, 2025
Revised: January 10, 2026

VIA ELECTRONIC MAIL TO NOTICE PARTIES ON SCHEDULE 1

RE: *In re Aldrich Pump LLC, et al.*, Case No. 20-30608 (Bankr. W.D.N.C.)
Expense Reimbursement Statement Pursuant to Order Establishing Procedures
for Interim Compensation and Reimbursement of Expenses for Professionals

Ladies and Gentlemen:

Attached please find the monthly fee statement of Verus Claims Services, LLC for fees earned and expenses incurred for the period of January 1, 2025 through January 31, 2025 (the "Statement"). The Statement is being provided to you in accordance with the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* in the above-referenced case [Docket No. 171].

Sincerely,

Mark Eveland

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



MONTHLY FEE STATEMENT

To: Notice Parties on Schedule 1, (Via E-Mail)
From: Verus Claims Services, LLC
March 3, 2025
Revised: August 1, 2025
Revised: January 10, 2026

Re: *In re: Aldrich Pump LLC, et al.* (the “Debtor”)
Case No. 20-30608
United States Bankruptcy Court
Western District of North Carolina, Charlotte Division

Pursuant to the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* entered on July 15, 2020 [Docket No. 171] (the “Compensation Order”), Verus Claims Services, LLC (“Verus”) submits this monthly fee statement (the “Statement”) as counsel to The Official Committee of Asbestos Personal Injury Claimants, for the period January 1, 2025 through January 31, 2025 (the “Fee Period”). During the Fee Period, Verus earned fees of \$89,172.00 and incurred expenses of \$474,664.23.

The Compensation Order allows retained professionals such as Verus to request payment of ninety percent (90%) of their fees and one hundred percent (100%) of their expenses on a monthly basis. This revised invoice addresses negotiations on total owed between the parties accordingly, Verus requests payment from the Debtor of 100% - **\$563,836.23** calculated as follows:

\$89,172.00 (Hourly Fees)
\$474,664.23 (Vendor Expenses)
\$563,836.23 (100%)

Attached hereto and incorporated herein as part of this Statement is Verus’ invoice describing the services rendered and the expenses incurred for the Fee Period. A summary listing of the Verus services during the Fee Period as well as an itemized list of expenses each appears in the invoice.

INVOICE

INVOICE ID: CI-0000005394

DATE: 03/03/2025

CLIENT: Aldrich Pump Claimant Committee

ADDRESS:

Terms: Net 30 Days
Due Date: 04/02/2025
Customer ID: 0110

FOR SERVICES RENDERED - SEE ATTACHED REPORTS FOR DETAILS

Hourly Services Fees (100%)	\$89,172.00
Expenses (100%)	\$474,664.23

Subtotal \$563,836.23

Total \$563,836.23

ACH Transfer Instructions:

Bank Name: Western Alliance Bank
Bank Address: 1 East Washington Street, Suite 2500, Phoenix, AZ 85004
Account Name: Verus Claims Services, LLC
ABA Number: 122105980
Account Number: 8307995319

Verus LLC
3967 Princeton Pike
Princeton, NJ 08540
609.466.0427
www.verusllc.com



The **Art & Science** of
complex dispute resolution.



Professional Services - Summary By Person

Row Labels	Sum of Hours	Average of Rate	Sum of Amount
Amanda Thomson	126.2	150 \$	18,930.00
Communication	2.5	150 \$	375.00
Quality	123.7	150 \$	18,555.00
Brianna Worrell	108.1	115 \$	12,431.50
Quality	108.1	115 \$	12,431.50
Debbie Daloisio	13.5	250 \$	3,375.00
Communication	4	250 \$	1,000.00
General Administration	1	250 \$	250.00
Quality	8.5	250 \$	2,125.00
Edward Silverman	16.6	250 \$	4,150.00
Analytics	12.1	250 \$	3,025.00
Communication	4.5	250 \$	1,125.00
Gencehan Yuksel	154	250 \$	38,500.00
Communication	7.5	250 \$	1,875.00
General Administration	146.5	250 \$	36,625.00
Jean Abellard	44.7	115 \$	5,140.50
Analytics	44.7	115 \$	5,140.50
Jose Thomas	17	150 \$	2,550.00
Analytics	17	150 \$	2,550.00
Morten Iversen	7.3	350 \$	2,555.00
Communication	7.3	350 \$	2,555.00
Sara Leineek	4.4	350 \$	1,540.00
Communication	4.4	350 \$	1,540.00
Grand Total	491.80	210.89 \$	89,172.00



Employee name (Multiple Items)

Row Labels	Sum of Hours	Sum of Amount
Analytics	73.80	10,715.50
Communication	30.20	8,470.00
General Administration	147.50	36,875.00
Quality	240.30	33,111.50
Grand Total	491.80	\$ 89,172.00



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Analytics	1/2/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	1	115	115.00	Manage Analytics List
Analytics	1/3/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	1	250	250.00	Review document IDs and analytics ID for trust document project and intiate search logic.
Analytics	1/3/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	1.5	115	172.50	Reconcile Document ID listing
Analytics	1/6/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	0.5	250	125.00	Phase 3 report planning
Analytics	1/6/2025	Questionnaire Review Aldrich Pump Personal Injury	Jose Thomas	2	150	300.00	Planning for future reporting Adding page counts and time spent and document type to internal phase 3 control reports. Preparing a refreshable
Analytics	1/8/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	2	250	500.00	spreadsheet for Quality management of productivity
Analytics	1/9/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	1	250	250.00	Refinements to power BI and associated reports, label additional trust documents
Analytics	1/9/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	2	115	230.00	Manage list for new Analytics ID
Analytics	1/10/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	1	250	250.00	Progress Report updates
Analytics	1/13/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	1	250	250.00	Power BI refresh and development (0.5); tracking refreshable excel sheet- development and troubleshooting (0.5)
Analytics	1/14/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	0.5	250	125.00	Claim research per request from LAS
Analytics	1/14/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	2.5	115	287.50	Aliasing document sub-sections
Analytics	1/14/2025	Questionnaire Review Aldrich Pump Personal Injury	Jose Thomas	1	150	150.00	Revising reporting data structure
Analytics	1/15/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	1.3	250	325.00	Refinement of refreshable tracking sheet for Quality and Ops for use in their reports to LAS
Analytics	1/17/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	0.5	250	125.00	Review of newly developed phase 3 reports
Analytics	1/17/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	3.3	115	379.50	Rearrange phase 3 code for document sections
Analytics	1/20/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	4	115	460.00	LAS LIST - File Path
Analytics	1/22/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	3.5	115	402.50	LAS LIST - File Path
Analytics	1/22/2025	Questionnaire Review Aldrich Pump Personal Injury	Jose Thomas	5	150	750.00	Coding AM data summary for Quality Assurance
Analytics	1/23/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	2.5	115	287.50	Rewrite phase 3 dictionary.
Analytics	1/23/2025	Questionnaire Review Aldrich Pump Personal Injury	Jose Thomas	5	150	750.00	Coding data summary for Quality Assurance
Analytics	1/24/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	0.5	250	125.00	Phase 3 quality report development and feedback review
Analytics	1/24/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	4.3	115	494.50	Phase 3 report LAS list
Analytics	1/27/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	3.5	115	402.50	Document ID and Analytics ID management
Analytics	1/27/2025	Questionnaire Review Aldrich Pump Personal Injury	Jose Thomas	1	150	150.00	Preparing documents for Document Processing Engine load
Analytics	1/28/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	4	115	460.00	Document ID and Analytics ID management
Analytics	1/29/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	0.5	250	125.00	Further revisions and automation of a quality report being used in phase 3
Analytics	1/29/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	2.3	115	264.50	Document ID and Analytics ID management
Analytics	1/29/2025	Questionnaire Review Aldrich Pump Personal Injury	Jose Thomas	3	150	450.00	Revising Quality reporting
Analytics	1/30/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	2	250	500.00	Error rate reporing review and edits for Quality
Analytics	1/30/2025	Questionnaire Review Aldrich Pump Personal Injury	Jean Abellard	6	115	690.00	Document ID and Analytics Documentation for LAS documents
Analytics	1/31/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman	0.3	250	75.00	Review Phase 3 reports amd edit per LAS feedback
Analytics	1/31/2025	Questionnaire Review	Jean Abellard	4.3	115	494.50	Phase 3 report run from Claims Processing Engine



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Communication	1/3/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		0.5	250	125.00 Requirement Gathering Meeting: G. Yuksel, E. Silverman, V. Chandramohan
Communication	1/3/2025	Questionnaire Review Aldrich Pump Personal Injury	Gencehan Yuksel		0.5	250	125.00 Requirement Gathering Meeting: G. Yuksel, E. Silverman, V. Chandramohan
Communication	1/6/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		0.3	250	75.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, A. Smith, G Yuksel, M. Iversen, E Silverman
Communication	1/6/2025	Questionnaire Review Aldrich Pump Personal Injury	Gencehan Yuksel		0.3	250	75.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, A. Smith, G Yuksel, M. Iversen, E Silverman
Communication	1/6/2025	Questionnaire Review Aldrich Pump Personal Injury	Morten Iversen		0.3	350	105.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, C. Thomas, A. Smith, G Yuksel, M. Iversen, E Silverman
Communication	1/7/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		0.8	250	200.00 Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman
Communication	1/7/2025	Questionnaire Review Aldrich Pump Personal Injury	Gencehan Yuksel		0.8	250	200.00 Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman
Communication	1/7/2025	Questionnaire Review Aldrich Pump Personal Injury	Morten Iversen		0.8	350	280.00 Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, E Silverman
Communication	1/9/2025	Questionnaire Review Aldrich Pump Personal Injury	Amanda Thomson		1	150	150.00 Phase 3 meeting. Attendees: P. Ebener G. Yuksel, A. Thomsprn, M. Iversen, D. Daloisio
Communication	1/9/2025	Questionnaire Review Aldrich Pump Personal Injury	Debbie Daloisio		1	250	250.00 Phase 3 meeting. Attendees: P. Ebener G. Yuksel, A. Thomsprn, M. Iversen, D. Daloisio
Communication	1/9/2025	Questionnaire Review Aldrich Pump Personal Injury	Morten Iversen		1	350	350.00 Phase 3 meeting. Attendees: P. Ebener G. Yuksel, A. Thomsprn, M. Iversen, D. Daloisio
Communication	1/13/2025	Questionnaire Review Aldrich Pump Personal Injury	Amanda Thomson		1	150	150.00 Phase 3 meeting. Attendees: P. Ebener G. Yuksel, A. Thomsprn, M. Iversen, D. Daloisio
Communication	1/13/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		0.6	250	150.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, A. Smith, G. Yuksel, M. Iversen, E. Silverman
Communication	1/13/2025	Questionnaire Review Aldrich Pump Personal Injury	Gencehan Yuksel		0.6	250	150.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, A. Smith, G. Yuksel, M. Iversen, E. Silverman
Communication	1/13/2025	Questionnaire Review Aldrich Pump Personal Injury	Morten Iversen		0.5	350	175.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, A. Smith, G. Yuksel, M. Iversen (joined late), E. Silverman
Communication	1/13/2025	Questionnaire Review Aldrich Pump Personal Injury	Debbie Daloisio		1	250	250.00 Phase 3 discussion. Attendees: P. Ebener, G. Yuksel M. Iversen, D. Daloisio, A. Thomson
Communication	1/13/2025	Questionnaire Review Aldrich Pump Personal Injury	Morten Iversen		1	350	350.00 Phase 3 discussion. Attendees: P. Ebener, G. Yuksel M. Iversen, D. Daloisio, A. Thomson
Communication	1/14/2025	Questionnaire Review Aldrich Pump Personal Injury	Debbie Daloisio		1	250	250.00 Silverman Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E
Communication	1/14/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		1	250	250.00 Silverman Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E
Communication	1/14/2025	Questionnaire Review Aldrich Pump Personal Injury	Gencehan Yuksel		1	250	250.00 Silverman Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E
Communication	1/14/2025	Questionnaire Review Aldrich Pump Personal Injury	Morten Iversen		1	350	350.00 Silverman Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E
Communication	1/16/2025	Questionnaire Review Aldrich Pump Personal Injury	Amanda Thomson		0.5	150	75.00 Phase 3 discussion. Attendees: P. Ebener, G. Yuksel, M. Iversen, A. Thomson (left early)
Communication	1/16/2025	Questionnaire Review Aldrich Pump Personal Injury	Gencehan Yuksel		1	250	250.00 Phase 3 discussion. Attendees: P. Ebener, G. Yuksel, M. Iversen, A. Thomson (left early)
Communication	1/17/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		0.5	250	125.00 Discussion with V. Chandramohan and G. Yuksel re documents that had seemed to have reconciliation errors
Communication	1/17/2025	Questionnaire Review Aldrich Pump Personal Injury	Sara Leineek		0.5	350	175.00 Meeting with A. Thomson, G. Yuksel, D. Daloisio, M. Ukattah, H. Palacios re Document Codes and client feedback re same
Communication	1/21/2025	Questionnaire Review Aldrich Pump Personal Injury	Debbie Daloisio		1	250	250.00 Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E
Communication	1/21/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		0.5	250	125.00 Silverman (left early) Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E
Communication	1/21/2025	Questionnaire Review Aldrich Pump Personal Injury	Gencehan Yuksel		1	250	250.00 Silverman (left early) Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen, A. Thomson, D. Daloisio, E
Communication	1/21/2025	Questionnaire Review Aldrich Pump Personal Injury	Morten Iversen		1	350	350.00 Silverman (left early) Discuss training session needs with G. Yuksel and A. Thomson (0.3); Email to P. Ebener re training requests (0.2);
Communication	1/22/2025	Questionnaire Review Aldrich Pump Personal Injury	Sara Leineek		1.4	350	490.00 Discuss IT escalations with A. Thomson (0.3); emails to V. Chandramohan re IT prioritizations (0.6)
Communication	1/24/2025	Questionnaire Review Aldrich Pump Personal Injury	Sara Leineek		2.5	350	875.00 December invoice review for submission and project status updates for internal leadership
Communication	1/27/2025	Questionnaire Review Aldrich Pump Personal Injury	Edward Silverman		0.3	250	75.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, A. Smith, G. Yuksel, M. Iversen, E. Silverman
Communication	1/27/2025	Questionnaire Review	Gencehan Yuksel		0.3	250	75.00 Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, A. Smith, G. Yuksel, M. Iversen, E. Silverman

Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Communication	1/27/2025	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.3	350	105.00	Weekly Ops Meeting. Attendees: P. Ebener, M. Totten, A. Smith, G. Yuksel, M. Iversen, E. Silverman
Communication	1/28/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	1	250	250.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen (left early), A. Thomson, D. Daloisio, E Silverman
Communication	1/28/2025	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.7	350	245.00	Weekly Steering Committee Meeting. Attendees: V. Chandramohan, G. Yuksel, M. Iversen (left early), A. Thomson, D. Daloisio, E Silverman
Communication	1/30/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	1	250	250.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen (left early), D. Daloisio, A. Thomson
Communication	1/30/2025	Aldrich Pump Personal Injury Questionnaire Review	Morten Iversen	0.7	350	245.00	Phase 3 discussion. Attendees: P. Ebener, P. Naidu, G. Yuksel, M. Iversen (left early), D. Daloisio, A. Thomson
General Administration	1/2/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.5	250	1,875.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	1/3/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7	250	1,750.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0)
General Administration	1/6/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.5	250	1,625.00	Review and manage Quality feedback with the reviewers
General Administration	1/7/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.3	250	1,575.00	System Testing
General Administration	1/8/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5.1	250	1,275.00	System Testing
General Administration	1/9/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.5	250	1,875.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	1/10/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.5	250	1,875.00	Review of supporting / supplemental documents for claimant population (4.0); Data Entry from extracted information in various PIQ sections (3.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	1/13/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.1	250	1,525.00	System Testing
General Administration	1/14/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.5	250	1,625.00	Reviewer training and quality updates
General Administration	1/15/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Quality report review
General Administration	1/15/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7	250	1,750.00	System Testing and feedback
General Administration	1/16/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5.5	250	1,375.00	Review of supporting / supplemental documents for claimant population (3.0); Data Entry from extracted information in various PIQ sections (2.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	1/17/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7	250	1,750.00	System Testing and feedback
General Administration	1/20/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.5	250	1,625.00	Test Case preparation for final testing
General Administration	1/21/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	3.5	250	875.00	Test Case preparation for final testing
General Administration	1/22/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7	250	1,750.00	Application training on new features
General Administration	1/23/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Report review for errors
General Administration	1/23/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	9.5	250	2,375.00	Training and recording of additional materials for reference within the teams
General Administration	1/24/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	8.5	250	2,125.00	Training and recording of additional materials for reference within the teams
General Administration	1/27/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.5	250	1,625.00	Review reporting from Operations and Quality teams (3.5); Work on Q&A related to training sessions (3.0)
General Administration	1/28/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	5	250	1,250.00	Client emails (0.8); Q&A and training video updates (4.2)
General Administration	1/29/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.5	250	1,625.00	Training manual enhancements and updates (4.0); review additional team questions and provide feedback (2.5)
General Administration	1/30/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	6.5	250	1,625.00	Review of supporting / supplemental documents for claimant population (3.7); Data Entry from extracted information in various PIQ sections (2.3); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
General Administration	1/31/2025	Aldrich Pump Personal Injury Questionnaire Review	Gencehan Yuksel	7.5	250	1,875.00	Data recap based on performance- staff arrangements- going over analytics report- going over production updates- assisting reviewers with application- going over questions asked- went over follow up queues
Quality	1/2/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3	150	450.00	Quality review of PIQ entries and comparison to referenced supporting documents (1.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.0)



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	1/2/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/3/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4	150	600.00	Quality review of PIQ entries and comparison to referenced supporting documents (2.0); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (1.0); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.0)
Quality	1/3/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1	250	250.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/6/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	4.2	150	630.00	Quality review of PIQ entries and comparison to referenced supporting documents (2.7); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.0)
Quality	1/6/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1	250	250.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/7/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5	150	750.00	Run and prepare reporting for review with Quality Manager related to decision points and document level reviewer entries
Quality	1/7/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1.5	250	375.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/8/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.5	150	975.00	Quality review of PIQ entries and comparison to referenced supporting documents (5.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/8/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/9/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1	250	250.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/10/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/13/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.7	150	855.00	Quality review of PIQ entries and comparison to referenced supporting documents (5.0); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.2); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/13/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/14/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.5	150	975.00	Quality review of PIQ entries and comparison to referenced supporting documents (5.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/14/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/15/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.5	150	825.00	Quality review of PIQ entries and comparison to referenced supporting documents (4.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/15/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/15/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	1	250	250.00	Review of reports from Quality Team re: Decision Points and Document Level metrics
Quality	1/16/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	6.5	150	975.00	Quality review of PIQ entries and comparison to referenced supporting documents (5.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/16/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/17/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.6	150	840.00	Run and prepare reporting for review with Quality Manager related to decision points and document level reviewer entries (4.2); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.4)
Quality	1/17/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	3.3	115	379.50	Quality review of PIQ data entry



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	1/20/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.2	150	780.00	Run and prepare reporting for review with Quality Manager related to decision points and document level reviewer entries (3.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (1.4)
Quality	1/20/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/20/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Review of Quality Reports
Quality	1/21/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	3.5	150	525.00	Quality review of PIQ entries and comparison to referenced supporting documents (2.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/21/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	4.5	115	517.50	Quality review of PIQ entries and comparison to referenced supporting documents (3.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/22/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	7.5	150	1,125.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/22/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/23/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	7.5	150	1,125.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/23/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/23/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Review of Quality Reports
Quality	1/24/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	7	150	1,050.00	Quality review of PIQ entries and comparison to referenced supporting documents (5.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/24/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	8	115	920.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/24/2025	Aldrich Pump Personal Injury Questionnaire Review	Debbie Daloisio	0.5	250	125.00	Review of Quality Reports
Quality	1/27/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	5.8	150	870.00	Quality Report preparation and tabulation of performance by individual, doc type, and decision point (4.2); Quality review of PIQ entries (1.6)
Quality	1/27/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	7.1	115	816.50	Quality review of PIQ entries and comparison to referenced supporting documents (5.9); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)



Professional Services - Time Detail

Task name	Date	Project name	Employee name	Hours	Rate	Amount	Description
Quality	1/28/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	9.5	150	1,425.00	Quality review of PIQ entries and comparison to referenced supporting documents (8.2); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/28/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	7.5	115	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/29/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	9.2	150	1,380.00	Quality review of PIQ entries and comparison to referenced supporting documents (8.2); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/29/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	7.3	115	839.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/30/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	7.5	150	1,125.00	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/30/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	7.5	115	862.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.8); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.7)
Quality	1/31/2025	Aldrich Pump Personal Injury Questionnaire Review	Amanda Thomson	8.5	150	1,275.00	Quality review of PIQ entries and comparison to referenced supporting documents (7.5); Review queue assignment and daily work flow and Review prior day work quality with Supervisor (0.5); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.5)
Quality	1/31/2025	Aldrich Pump Personal Injury Questionnaire Review	Brianna Worrell	6.9	115	793.50	Quality review of PIQ entries and comparison to referenced supporting documents (6.3); Intermittent status updates and general queries with team and supervisors via email and team communication forum (0.6)
				491.80		89,172.00	

Verus Claims Services, LLC
 Professional Services
 Rendered Aldrich Pump Claimant Committee

DATE	Vendor	PROJECT/TASK	DESCRIPTION	RATE
01/01/2025	STF	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services	\$ 3,543.48
1/31/2025	PeopleShare	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 90,405.81
1/31/2025	Robert Half	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 93,352.40
1/31/2025	Brainworks	Aldrich Pump Personal Injury Questionnaire Review	Review of supporting / supplemental documents for claimant population; verification of highlighting appropriate key terms in depositions and other supporting documents; Data Entry from extracted information in various PIQ sections; Review queue assignment and daily work flow and Review prior day work quality with Supervisor; Intermittent status updates and general queries with team and supervisors via email and team communication forum	\$ 255,716.04
1/31/2025	EfficiencyWare	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Development and custom configuration	\$ 31,304.50
1/1/2025	Microsoft	Aldrich Pump Personal Injury Questionnaire Review	Agreement Aldrich Managed Services Microsoft access	\$ 342.00
Total				\$ 474,664.23